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Linear Inequalities Worksheet — 2

1.If the replacement set = {-8, -7, -5, -3, -1, 0, 1, 3, 4, 5}, then find solution set of

i)-9<x<1

iosx<4

2.

8.

9.

Solve:

. Solve:

. Solve:
. Solve:
. Solve:

. Solve:

Solve:

Solve:

x 1 x 1
—+=-<—+-,xeW
4 5 8 2

—2<§ +2<5,xel

5>4x-11,xeN

9 -x<12-2x,x €N, represent solution set on number line.
5(x—2)<3(x—-4),xel

-3x+8<2,xeN

-9 (m +2)>7, m el, represent solution set on number line.

-3<3x<12,x€el

10. Solve: 2(x-3)>3(x+1)-7,x €1
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20.

. Solve

Solve:

Solve:

Solve:
Solve:
Solve:

Solve:

Solve:

Solve:

Solve:

:1<2(x—-3)+4<12,xeW

5x +2< 17, x € W, represent solution set on number line.
ng+ﬂ+553+EU+leel

15<3x+1<28,x€l

7x—5<25+2x,x€eN

9-3(2+5x)<33

-82>23x-5,x€el

2<Z+2510,x€l

5-20x2>-5,x€eN

5-2x2x—16,x € W, represent solution set on number line.
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